Meéritko - délky 1: 250

vysky 1:100

10°0-

L5°0

68°0

€€°0-

00

SL°0

€00

100

600

8L'0

ve'0
180

S0
143"

rozdil két

2L oLs —

050l —

0S0LS —

06806 —

L1806 —

L5°.0S —

€906 —

92'908 —

18'60G —

€V's0S —

L2'S0S —
€2°S0S —

8L'608 —
G1'608 —

upraveny terén

crLLS

9e0LS

€1°0lS

€6'609

19°60S

€¢'609

10809

cv'L0S

04905

§¢'90S

497.00

¢L'60S

§2¢'S0S

€605
LY'¥0S

€0'60G
10°G0S

stavajici terén

>l
—

p

Vyskovy systém

Srovnavaci rovina

0.08

0.07

0.06

0.05

0.04

0.03

0.02

0.01

0.00

¢eni v km

Stani

9688

0008

y9'LL

08'GL

or'el

00°0L

00°09

00°0S

00°0¥

00°0e

0002

000l

LYy
€L¢C

00°L
000

éenivm

v

Stani

wIrv

Rozsifeni skladky C. Krumlov - 3. etapa

D.1.2. Podélny profil P.P.C. 1
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